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SECTION-A

Arfaf@a gea g&ar 1 ¥ 50 d& & Uds 9T & 1Y IR fdeeq fouw v
g, IS @ U Tl &1 31U c@RT I A0 T fahed @l OMR Hie W
IEIGGEETY

1. 3emeT T TV a&q 1 AT fohet AT & IHecda A Srar 8T
g?

(a) =afSe TR

(b) @A 3remey

(c) 3WIeFd gt

(d) 3RaFd H & FIS g

2. AT & FAIfAcT & IUR 9 JIIIEATT gl ¢
(a) edlehd ArTolTecy HTeTaed

(b) STSTR 3egaer

(c) AT 3rdegaear

(d) 3WIsd T
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3. HITTEAT HI FoelT FATAR HlA-AT § ?
(a) TTE=AT FT 3Tac

(b) WTEAT T FHRAeIdH 3T

(c) 3+ e

(d) 39AFT T

4. GATSE IYATEH eI T
(@) TOT ISR

(b) HHIT HAT R

(c) Hehel TSI 3c4TG

(d) 3WIsd T

5. doic ¥¢ & fav 3T« gl
(a) SSell T T

(b) facTATT IR HrAd

(c) 3UHIFAT I FeT 3

(d) 3RIFT Tefr

6. AR faFurdsT T #

(@) T&g 1 T 3T AT

(b) T&F 2 H FA AT

(c) a¥g 1 T 2 &=t T 3T AT
(d) (a) 3R (b) &=t
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7. 3THIFAT SIIER HT IJETT fohaT AT &
(a) g&H AT H

(b) =T AT H

(c) 3T faculed #H

(d) 3RIFT # F PG LT

8. §olc IWT &T & gIdT gl

(@ —

(b) -
() +=

(d) 3Wad H & FIS g

9. 3SrHIAdT dsh BldT &

(a) Hel faeg 1 3R 3raeiaex
(b) Her faeg 1 3R 3eetdiey
(c) 3WFd alAT T

(d) 3RFT Sl 3FHT

10. #IT Toh T T gl ol
(a) SIF ¥ G oA I IR
(b) I H g FW Hr 3R
(c) x 378 & FHATATR

(d) 3RIFT H & PG AT
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11. HIIT Bl A AFTifohd H F HiT-G1 GHTOT ToFd AT 87
(a) Px

(b) Dx = Px

(c) Dr = f (Px)

(d) 3RFT H & Flg T

12. 3{eUeTellsdl 3cUTcs Hold i AT fdFT H fhd @IH & garr &l Srdr
g ?

(a) ART & HATH & garT

(b) aRacNe 36U & foia & anT

(c) AT & Yfdwhel IH & ganrT

(d) #AT $ T g@r

13. fdFT & ¥ &gl 3fhd HifaT
(a) TVC = TC - TFC
(b) TC = TVC - TFC
(c) TFC = TVC + TC
(d) TC = TVC x TFC

14. MR vefdia fRar arar &
(@ 5o

(b) =
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15. THITASR TF THITOHRT IfaNfadar & gar g
(@ AR = MR

(b) AR > MR

(c) AR < MR

(d) 3TIFT H & HIg Tl

16. 9cdeh STSIR GAT H Ueh B & Hocelol o [T dicd-Al AT G glelr
TS § ?

(@) AR = MC

(b) MR = MC

(c) MC T MR T &I Ard § FIC
(d) (b) 3R (c) &l

17. 7T A & FIA-A1 FUA TET g7

(a) TG T FHAT TF 3HH feT & FrT Aew Gy @ar §
(b) 9fct a5 & & g FW H IR 35T §

(c) IR 1 3T acT wIRT T &

(d) 3RIFT Tl

18. Ife T T HAT H 40% HI Jef&r g1 W il H hael 15% T gafer
&Y, U aEqg #r gfd gl

(a) 3IcT™F AIER
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19. Herel & Eafa &

(a) fasha hr FHer AT TICT ST FTell AT & SN
(b) TSR i &SGR &AM & s{Ia

(c) o & B 3R o IuMFA AT g TS §
(d) 3WIsd T

20. YA B HHA H IUANT 37 foeq doh HICh 8

(a) T8I #HF T HHAd ScdGahdl Ay &l o SIeX gl ¢
(b) STET #H & HAlTd ScaGhdl A &l & HA gidl &l
(c) ST@T #H & WA IcUlgehdl Holgyl &l ¥ 38w gl §
(d) SRIFd H & HIg !

21. fd IR # 34 fafig 9 ar Srar g ?
(a) Y& FfAATAT

(b) qoT Sferafarar

(c) TR

(d) TenITeRIT gfaanfarar

22. THR ¢aRT "3Tadd AURa FAa” dF Fr S g
(a) 3MMaeTH TEI3T W

(b) S SR UIRT FFT & FA gl &

(c) ATHATT NI hr nguu & oo olel

(d) 39k T
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23. 1A 38 faeg W iR @l § s
(a) a&q T AT TS &

(b) a&g #r gf 3=

(c) T T AT 3N T AT Yfel S &
(d) 17 & P Tl

24. SIGTR AT 9RAT STl &

(a) 3rcYTelled SOIR H

(b) EreeTeileT TSR &

(c) 31fa &F Freler IR #
(d) 3T # & PG AT

25. fafeer IrderE Sl A1S dhed Y Gy Jode "g Sokd " g
IV FRIRIT §5 ?

(a) 1926
(b) 1936
(c) 1946
(d) 1956

26. AT fohg Iy 1S &Y ?
(a) 1949
(b) 1939
(c) 1929
(d) 1919
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27. GATE HAAET HITTEYT Al fohed &1Feh & AT & & H @1 § ?

(d) 3WIsd T

28. GNPyp = ?

(a) GDPyp - O¥TEc

(b) GDPyp + facell & e oesh 3y
(c) 3WIFA Gt

(d) SRIFd H & HIg !

29. #aT A T TEY 3fefshA Hld-TT § ?
(a) %G T, 97 7T, U1 AT
(b) a¥q e, T HaT, 9 T
(c) 1@ HaT, a1q T, 9 FeT

(d) 17 & g Tl

30. Red & & Har & TR A9 T § S 6 My, My, M3 3iR M, & My &
mfAeT &1

(@) C = eIl & UrF Hhidr

(b) DD = Sl Z@RT ST AT STAT
(c) OD = RSId d& & Urg 37 ST
(d) 39k T
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31. HIHT 3MGHT HI d Hld-aT § ?
(a) A& d6

(b) ST Sk

(c) (a) 3R (b) ak=t

(d) 17 & P Tl

32. WY IUTH BT &

(@) ==

1
(b) =T X Zre-
(c) =191q x CRR

(d) 3Wad H & FIS g

33. T dh & e H Pla-T I g?
(a) e A &1 3R

(b) TIFR T dHT

(c) Taceh [T PN &1 e+

(d) 3WId T

34. S & FoIT S @RI HlT-E Hel SIRT Hr STl § 2

(a)aﬂﬂﬂa

(b) @@ Her
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35. Tsh el ITeqaeyr # AHfeh AT & Huch Hied § ?
(@) 3T

(b) faaer

(C) 3UHNT WHRT T

(d) 3UHET + T + WA T + ey AT

36. APC + APS = ?
(@) 0

(b) |

(c) 3olod

(d) 3TTFT # 8 FIg 61

37. 31caf¥ed AT gl & &5 7 -8 HRoT 82
(a) A&l T H o™

(b) FeT T qfT 7 FEf

(c) A H FHAT

(d) 3R T

38. HARA & T av §
(@) 1 38 & 31 A
(b) 1 SToady & 31 &
(c) 1 S[em$ & 30 S
(d) 3RFT 7 F IS el
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39. UcTeT Y & IHoaddld e H & 59 anfde Far srar g 2
(@) 3T F

(b) 398 &Y

(c) (a) 3R (b) ak=t

(d) 3RIFT # F PG LT

40. ART H Tk FYAT & Al il AR FIAT g ?
(a) AT Raa d&

(b) ART TR &1 fad HAFeT

(c) AR ¥ dh

(d) 3T # & PG AT

41. sl Folc AMAT HIAT §

(a) IroTEd ISl dUT TSed <O
(b) Fetard TIfeaar qam Jefiard <o
(C) TeTET AT IHATET X

(d) 3TTFT 7 8 FIG 61

42. yrafie ©rer giar g

(a) fa<iT e - sATST S7ITcAT

(b) T =rer + AT AT
(c) (a, 3R (b) axt
(d) 3RFT H & *Is Al
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43. gole fAF=ifhd TR & g &
(a) Hferdt FreTe
(b) ST I FoI
(c) gT¢ &l §olc

(d) 3WIsd T

44. R_AfAAT ST & HlA-H TR 872
(a) R RAfa#T X

(b) ST fafdHT &

(c) (a) 3R (b) aw=t

(d) 3RIFT H F FIS 7gr

45. Sicel G398 YUl & HAT ATUhier St 7 o
(a) TR fAfaHAT X

(b) fRIfera AfaaAT X

(c) (a) 3R (b) arr

(d) 3RFT # & FI$ F@m

46. TR AT X & HlT-F o7 § ?
(a) Yoir & arfcRfierar &1 Sorar

(b) Gait @l STEY S & kel

(c) HeCHTST &l Jehadl

(d) 39k T
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47. 1944 & sl G50 FFAG & EIRT TA §5
(a) IRTSET HT I

(b) fava de

(c) (a) 3R (b) @t

(d) 3WFT H & Py TG

48. draqut e X & av §

(a) 3ifeeRar Tur AfARTAdr

(b) TeaTST T McaTga

(C) IeRTSET IR g7 A H Aecarg
(d) 3WIsd T

49. MR AV = ?

(a) TT Al &1 AT - 9T HGL FT AT

(b) TIT TqUT 3L HAGl &l [AATd- TLT JAT 72T Hal I AT
(C) T FHGl HI AT - TF HAGl Hl AT

(d) 395 & HIg =gl

50. ATl AV & Th &
(a) =Tef QT

(b) gt @reT

(c) (a) 3R (b) &

(d) 3TIFT H F HIg Tl
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SECTION - B

U HEAT 1§ 22 dh oY 307 &l fohegl 15 W&l & 3w & Idsh & fov
2 3% fauRa g

1. 3YFAT Hlolol T AT 7Y 8?7 ST AT fordd|

HIIT ATTeIRT S FETIAT F AT & fAgd7 T sarear Hi|

U AGGR JaT QUi delagR AieT &1 379 o |

AT T T & gATTAT el drel deal 1 ol |

AT 3cqIee] TAT A eIt & FFeeel &l Tdd|

TEY WM T HTURUN I TISC H|

HeTdlelsl AT R & @1 "U" 3R Fr 41 gidr & ? d819 & ford|
Fel A, AT WA JUT AT IH § 47 deaY § 2

qor Sfaaeft aeR & et [ajIvar™ fad | hitps://www. bsebstudy.com

. THIRSR JAT THITAHRIcAS IaNf&Ndar # 31 3ed g ?

. HoJolel AT AT Heloled AT § &7 AT § ?

© ® N oo a &~ W DN

—_
N = O

. UG 3T AT B 3T H ek T A

. S 3 & T 3ifurg €2 e 3 aur dafede 3T # T AR §?
. "I 3T Al fohdsl TN H dfer JTar g ?

. 3T AT ¥ gealeud daunieadr Sl @ § ?

16. IS 3T FI oo AT § FHT AT AT § ?

17. a&q AfAAT gomell & 9H7@ Q¥ Fld @ §? HaT 37 ANl &I T HLA A
fhg JhR T gl g ?

18. =R d & 9@ Hrdl H o]

19. 31qUT USHIR T 3T QU7 AR Fefoled A A7 AT § 2
20. Qe IUTR TAUT WHATT 3THNT YT & TFaee FH redr RS
21. #Aifgs N & AT 3UMET & =1 fod|

S I §
o s~ W
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22. WY dolc @ 41 AFAY §? WHRT dolc A LT [AAvd™d & 82

9ol HEAT 23 ¥ 26 &Y 3909 g1 Wl weaT & 3w &1 yA® W & fav
g 3 AuiRa &
23. AT & HIH $H WWIRT @R qredr Hifov| fhell a&q 6T AT S
gaTfad ¥t dTel 9T dodl ol JUTT

37ar

HIIT &7 AT AT T 3T FAT THSTT 82 9 hd AT ST & ?

24. 9T & YfAhe § FIT ITRU §? 3TYFd @A HT JA9T A §C
YA & Gidhel & Fedl JHAT dAT gcdr YRUM3T $I eIredr Hi|

3dar

3cUTeed oeTd & faffeed bR &7 JUTeT Y| 3ad oera g1 TAd et d &
IR &aetil I cqredr il

25. 39YFd 3eTeI0T T TEIAT ¥ TSE 3T AT I Ao Jefer fafer ar
quleT Y

3r2rar
S IO T FHEIT T FA7 AU §? 5T TALAT A FH 99T ST TohdT ¢

? 3SIgI0T TASE |

26. foraer aoreh s gResT &| faer oreh quT 39T dhr HATT yga A

FIT qFa-Y g7

37T
gt ART F7 § ? 30 fhg geR AAfRa fhar S awar 82
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BIHAR BOARD QUESTION PAPER

INTERMEDIATE EXAMINATION - 2018
seAI3Te gdiamm - 2018
(ANNUAL / aif¥)
BUSINESS ECONOMICS

Time: 3 Hours 15 Minutes] [Full Marks: 100

SECTION-A

Question No. 1 to 50 have four options, out of which only one is correct. You have to
mark, your selected option, on the OMR Sheet.

1. The subject matter of economics is being studied under which branches
(a) Micro Economic

(b) Macro Economics

(c) Above two

(d) None of the above

2. On the basis of the ownership of the resources, economies are
(a) Centrally planned economy

(b) Market economy

(c) Mixed economy

(d) All of the above

3. Which are the central problems of an economy?
(a) Allocation of resources

(b) Best use of resources

(c) Economic development

(d) All of the above
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4. Macro Economics studies
(@) Full employment

(b) Aggregate price level

(c) Gross National Product
(d) All of the above

5. This is required for a budget set
(a) Collection of bundles

(b) Prevailing market price

(c) Total income of the consumer
(d) All of the above

6. In diminishing rate of substitution
(a) more of goods 1

(b) less of goods 2

(c) more of both 1 and 2

(d) (a) and (b) both

7. Consumer behaviour is studied in
(@) Micro Economics

(b) Macro Economics

(c) Income theory

(d) None of the above

8. Slope of the budget line is
Px
@)+
Py
(b) - =
Py
)+
(d) None of the above
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9. Indifference curve is
(a) Concave to the origin
(b) convex to the origin
(c) Both the above true
(d) Both the above false

10. The slope of the demand curve is
(a) left to right downward

(b) left to right upward

(c) parallel to x-axis

(d) None of the above

11. Demand function is expressed by which equation?
(a) Px

(b) Dy = Px

(€) Dx = f(Px)

(d) None of the above

12. Short run production function is explained by which law?
(a) By the law of demand

(b) By law of variable proportions

(c) By law of returns to scale

(d) By elasticity of demand

13. Tick the correct in the following
(@ TVC=TC-TFC
(b) TC=TVC-TFC
(c) TFC=TVC +TC
(d) TC=TVCxTFC
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14. MR is expressed as

ATR
@) 35

TR
(6)

(©) =5

(d) None of the above

15. In monopoly and monopolistic condition
(@) AR =MR

(b) AR > MR

(c) AR <MR

(d) None of the above

16. In every market situation which condition is necessary to be fulfilled for a firm's
equilibium?

(a) AR = MC

(b) MR =MC

(c) MC curve should cut the MR curve from below
(d) (b) and (c) both

17. Which of the following statement is true?

(a) There is direct relationship between the price of a commodity and its Supply
(b) Supply curve moves left to right upword

(c) Supply is affected by many factors

(d) All of the above

18. If the price of a commodity rises by 40% but the supply increases by only 15%
supply of such commodity would be

(a) Excessive elastic
(b) Elastic
(c) Inelastic

(d) Completely inelastic
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19. In equlibrium position

(@) The amount to be sold is equal to the amount to be purchased
(b) Market supply is equal to market demand

(c) Neither the firm nor the consumer wants to be destabilised
(d) All of the above

20. Every firm uses labour up to the point

(a) Where labour's marginal productivity is equal to the wage rate
(b) Where labour's marginal productivity is less than the wage rate
(c) Where labour's marginal productivity is more than the wage rate
(d) None of the above

21. In which market product differentiation is found?
(a) Pure competition

(b) Perfect competition

(c) Monopoly

(d) Monopolistic competition

22. Government decides "Price ceiling"

(@) On necessary goods

(b) Which is less than the price decided by market
(c) To make it affordable to the common man

(d) All of the above

23. Price is determined at the point, where

(a) Demand of the commodity is high

(b) Supply of the commodity is high

(c) Demand of the commodity and supply of the commodity is equal
(d) None of the above
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24. Market price is found in
(a) Short period market
(b) Long period market
(c) Very long period market

(d) none of the above

25. British economist John Maynard Keynes famous book "The General Theory" was
published in which year?

(a) 1926
(b) 1936
(c) 1946
(d) 1956

26. The great Depression came in which year?
(a) 1949
(b) 1939
(c) 1929
(d) 1919

27. Macro economics sees an economy as a combination of which sectors?
(@) Family

(b) Firm

(c) Government and external sector

(d) All of the above

28. GNPyp =?

(@) GDPyp - Depreciation

(b) GDPys +net factor income from abroad
(c) Both of the above

(d) None of the above
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29. Which is the correct sequence of money's development?
(a) Commodity money, Paper money, Metal money

(b) Commodity money, Metal money, Paper money

(c) Credit money, Metal money, Paper money

(d) None of the above

30. Reserve Bank of India has presented four measures of money supply namely M;, M5,
Ms, and My, My, includes

(@) C = currency held by public

(b) DD = net demand deposit of the bank
(c) OD = other deposits held with the RBI
(d) All of the above

31. Which is common man's bank?
(a) Commercial Bank

(b) Central Bank

(c) (a) and (b) both

(d) None of the above

32. Credit multiplier is
1
@) =
1
(b) Cash .

(c) Cash x CRR
(d) None of the above

33. Which of the following is Central Bank's function?
(a) Right of issuing notes

(b) Government's banker

(c) Custodian of Foreign Exchange Reserves

(d) All of the above
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34. Which currency is issued by Central Bank of the country?
(@) Money in circulation

(b) Credit money

(c) Coins

(d) All of the above

35. In an open economy which are the components of Aggregate Demand?
(a) Consumption

(b) Investment

(c) Consumption + Government expenditure

(d) Consumption + Investment + Govt. expenditure + Net export

36. APC + APS =
(@0

(b) 1

(c) infinity

(d) None of the above

37. What are the reasons of excess demand?
(@) Increase in public expenditure

(b) Increase in money supply

(c) Decrease in taxes

(d) All of the above

38. Indian's financial year is
(a) 1% April to 31* March
(b) 1% January to 31* March
(c) 1% July to 30" June

(d) None of the above
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39. In direct taxes which one of the following is included?
(@) Income Tax

(b) Gift Tax

(c) (a) and (b) both

(d) None of the above

40. In India who issues one rupee note?
(a) Reserve Bank of India

(b) Finance Ministry of Govt. of India
(c) State Bank of India

(d) None of the above

41. Capital Budget includes

(a) Revenue recepits and revenue expenditure
(b) Capital receipts and capital expenditure
(c) Direct and Indirect taxes

(d) None of the above

42. Primary deficit is

(a) Fiscal Deficit - Interest Payment
(b) Fiscal Deficit + Interest Payment
(c) (a) and (b) both

(d) None of the above

43. Budgets are of the following types
(a) Balance Budget

(b) Surplus budget

(c) Deficit Budget

(d) All of the above
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44. Exchange rate is of the following types
(a) Fixed exchange rate

(b) Flexible exchange rate

(c) (a) and (b) both

(d) None of the above

45. During Bretton Woods System most countries had
(a) Fixed Exchange Rate

(b) Pegged Exchange rate

(c) (a) and (b) both

(d) None of the above

46. Fixed exchange rate has following merits
(a) Promotes Capital movements

(b) Prevents capital outflow

(c) Precents speculation

(d) All the above

47. Bretton Woods Conference of 1944 established
(@) International Monetary Fund

(b) World Bank

(c) (a) and (b) both

(d) None of the above

48. Demerits of flexible exchange rate are

(@) Instability and uncertainty

(b) Encourages speculation

(c) Discourage international trade and investment
(d) All of the above
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49. Balance of Trade = ?

(a) Export of visible items - Import of visible item

(b) Export is visible and invisible items Import of visible and invisible items
(c) Import of visible items - Export of visible items.

(d) None of these

50. Components of Balance of Payments is
(a) Current Account

(b) Capital Account

(c) (a) and (b) both

(d) None of the above

SECTION-B

Question No 1 to 22 are short answer type. Answer any 15 Question Each question
carries 2 Marks.

1. What do you mean by consumer's equilibrium? State its assumption.

2. Explain the law of demand with the help of demand schedule.

3. Write the meaning of perfectly elastic demand and perfectly inelastic demand.
4. Write the factors effecting elasticity of demand.

5. State the relation between Marginal Production and Average Production.

6. Clarify the concept of opporunity cost.

7. Why short run average cost curve is to "U" shaped ? Write briefly.

8. What to you mean by Total Revenue, Average Revenue and Marginal Revenue?
9. Write the three characteristics of perfect competitive market.

10. What is the difference between monopoly and monopolistic competition?
11. What is meant by equilibrium price and equilibrium quantity ?

12. Differentiate between national income and domestic income.
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13. What is meant by private income? What is the difference between private income and
personal income?

14. Factor income is divided into how many classes?
15. What are the precautions related to the calculation of income method?
16. How national income is calculated by expenditure method?

17. What are the main demerits of barter system? How money is helpful in removing
these demerits? https://www.bsebstudy.com

18. Write the important functions of Commercial Banks.

19. What is meant by under employment equilibrium and over full employment
equilibrium?

20. Explain the relationship between investment multiplier and marginal propensity to
consume.

21. Write the names of main measures of monetary policy.

22. What do you mean by government budget? What are the main charcteristics of
government budget?

Question No. 23 to 26 are long answer type. All questions are compulsory. Each question
carries 5 Marks.

23. Explain the law of demand with the help of a diagram. Explain any five factors
affecting the demand of a commaodity. https://www.bsebstudy.com

Or

What do you understand by price elasticity of demand? How is it measured?

24. What is meant by returns to scale? Using a suitable diagram, explain the concepts of
increasing, constant and diminishing returns to scale.

Or

Describe the various types of production cost. Explain the mutual relation between
Average Cost and Marginal Cost.
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25. Explain the value added method of estimating national income with the help of a
suitable example.

Or

What do you mean by double counting problem? How can it be avoided? Expain with an
illustration.

26. Define investment multilier. What is the relationship between investment multiplier
and marginal propensity of consume?

Or

What is excess demand? How can it do controlled ?
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